Procviéovani nasobilky 6, 7, 8, 9

79| Doplii tabulky.
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6 59 24 45 5 4 54

48 42 56 27 1 24 7

12 56 8 63 28 5 9

36 7 64 18 49 2 36

18 49 16 {5 2 64 9

54 21 72 36 56 32 18

24 63 52 54 21 48 45

42 28 40 81 63 9 8

@ Vypocitej.
4-(8+3)=_4-8+4-3 =32+12 =_44 2-8+9)= = =
8- (5+4)= = = 4-(6+8)= - =
9-(3+5)= = = 6-(4+6)= = =
3 u o0y = = = 8-(3+8)= = =
5.(5+8)= = = 7-(4+6)= = =
Najdi dvojici &isel, jejichZ soucin je: @ Doplii &isla v tabulkéch tak, aby je-

15= 3 - 5 64=_ jich soucet ve vSech smérech byl 21.
8= 49= - 6 4
6= ___ 21=_ =~
Be i B 11| 7 5
2= - 2= 10
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